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Run 4464 quartetwise, posHQ: Beam DH

—— Laser ON
—— Laser OFF

entrigs: $45404
Mean: 11.0068 +- 0.0013

ol Dew: QL4536 +/- 0.0 O

Std Dev: 0.4262 +- 0.0012
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Run 4464 quartetwise, asym0Osub: Beam ON

Laser ON Entries: 94508 Entries: 62388
— Mean: 20,4080 +- 0.2340 Mean: 5.8333 «- 0.2520

B Laser OFF Std Dev: 72.2211 +- 01661 | Std Dev: 62.0421 4= 0.1782
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Run 4464 quartetwise, negHO: Beam DIN

— Laser OM Entries: 945048 Entriza: 6X188
Mean: 11.4920 +- 0.0015 | Mean: 86663 +- 0.0017
Laser DFF Std Dew: 0.4500 +/- 0.0010 Std Dew: 0.4211 +- 0.0 2
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-------- Histogram Vars
Positive Hel (ON): 11.606799 +/- 0.001475
Negative Hel (ON): 11.491994 +/- 0.001464
Positive Hel (OFF): 8.699721 +/- 0.001706
Negative Hel (OFF): 8.666280 +/- 0.001686

-------- Sums and Diffs

On Diff: 0.114805 +/- 0.001294

Off Diff: 0.033441 +/- 0.001445
On Sum: 23.098793 +/- 0.002639
Off Sum: 17.366001 +/- 0.003069
-------- Asymmetries
On Asym: 20.025942 +/- 0.226121 (ppt)
Off Asym: 5.833340 +/- 0.252028 (ppt)
-------- Bkgd Subtraction

BkSub Sum: 5.732792 +/- 0.004048
BkSub Asym: 14.192602 +/- 0.338599 (ppt)
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Run 4464 quartetwise, posHO vs time
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Run 4464 quartetwise, negHO vs time
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Run 4464 quartetwise, bcm vs time
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